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+l…«∂……∫j…  
ECONOMICS 
∫…®…™… :  3 

4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 
 

{…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… : 

GENERAL INSTRUCTIONS TO THE EXAMINEES : 

1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

 Candidate must write first his / her Roll No. on the question paper 
compulsorily. 

2. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩÈ˛* 

 All the questions are compulsory. 

3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â* 

 Write the answer to each question in the given answer-book only. 

4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 

 For questions having more than one part the answers to those parts 
are to be written together in continuity. 

5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ 

{…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & English 
versions of the question paper, the question of Hindi version should 
be treated valid. 
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6.  J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… =k…Æ˙ EÚ“ ∂…§n˘ ∫…“®…… 

  + 1-10 1 10 ∂…§n˘ 

  §… 11-18 2 20 ∂…§n˘ 

  ∫… 19-27 4 30-40 ∂…§n˘ 

  n˘ 28-30 6 250-300 ∂…§n˘ 

  Section Q. Nos. Marks per  Word limit  
    question of answer 
  A 1-10 1 10 words 
  B 11-18 2 20 words 
  C 19-27 4 30-40 words 
  D 28-30 6 250-300 words 

7. |…∂x… GÚ®……ΔEÚ 28, 29 i…l…… 30 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 
 Question Nos. 28, 29 and 30 have internal choices. 
 

J…hb˜ – + 

Section – A 

1. ø…∫…®……x…  ¥…∫l……{…x… n˘Æ˙ EÚ… +…∂…™…  ±… J…B*  

 Write the meaning of diminishing rate of substitution.  1 

2. ®……ƒM… °Ú±…x… C™…… ΩË˛ ?  

 What is demand function ? 1 

3. §……V……Æ˙ +l…«¥™…¥…∫l…… EÚ… BEÚ =n˘…Ω˛Æ˙h… §…i……<B*  

 Give an example of market economy. 1 

4. n˘“P…«EÚ…±… ∫…‰ C™…… i……i{…™…« ΩË˛ ?  

 What is meant by long run period ? 1 

5. EÚ“x∫… EÚ“ |… ∫…r˘ {…÷∫i…EÚ EÚ… x……®…  ±… J…B*  

 Write the name of Keynes's famous book. 1 

6. ®…÷p˘… E‰Ú ∫…ΔS…±…x… ¥…‰M… EÚ… +…∂…™… §…i……<B*  

 Give the meaning of velocity of circulation of money. 1 
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7. ¶……Æ˙i… E‰Ú E‰Úxp˘“™… §…ÈEÚ EÚ… x……®…  ±… J…B*  

 Write the name of central bank of India. 1 

8. ∫…Æ˙EÚ…Æ˙“ §…V…]ı ∫…‰ C™…… i……i{…™…« ΩË˛ ?  

 What is meant by Government budget ? 1 

9. ®…÷p˘… EÚ“ ∫…^ı… ®……ƒM… EÚ…‰ EÚ…Ëx…-∫…… EÚ…Æ˙EÚ  x…v……« Æ˙i… EÚÆ˙i…… ΩË˛ ?  

 Which factor determines speculation demand for money ? 1 

10. Æ˙…V…EÚ…‰π…“™… P……]ı…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ?  

 What is fiscal deficit ? 1 

J…hb˜ – §… 

Section – B 

11. ¥™…Œπ]ı B¥…Δ ∫…®…Œπ]ı +l…«∂……∫j… ®…Â EÚ…‰<« n˘…‰ +xi…Æ˙ §…i……<B* 

 Give any two differences between Micro- and Macro-economics. 1 + 1 

12. ={…¶……‰HÚ… EÚ… <π]ıi…®… ∫…Δ™……‰M… EÚ…‰ n˘∂……«x…‰ ¥……±…… Æ‰˙J…… S…j… §…x……<B*  

 Draw a diagram showing optimum combination of consumer. 1 + 1 

13. +±{…… v…EÚ…Æ˙ §……V……Æ˙ EÚ“  EÚxΩ˛” n˘…‰  ¥…∂…‰π…i……+…Â EÚ… =±±…‰J… EÚ“ V…B*  

 Mention any two characteristics of oligopoly market. 2 

14. +…Ë∫…i… ∫…®|……Œ{i… B¥…Δ ∫…“®……xi… ∫…®|……Œ{i… ®…Â +xi…Æ˙ ∫{…π]ı EÚ“ V…B* 

 Clarify the difference between average revenue and marginal revenue.   
   2 

15. ∫…EÚ±… Æ˙…π]≈ı“™… =i{……n˘ B¥…Δ ∫…EÚ±… P…Æ‰˙±…⁄ =i{……n˘ EÚ“ +¥…v……Æ˙h……+…Â EÚ…‰ ∫…®…Z……<B* 

 Discuss the concepts of Gross National Product and Gross Domestic 
Product. 2 

16. ¥™……¥…∫…… ™…EÚ §…ÈEÚ…Â E‰Ú  EÚxΩ˛” n˘… ‰ ®…÷J™… EÚ…™……Á EÚ… ¥…h…«x… EÚ“ V…B*  
 Describe any two main functions of commercial banks. 2 

17. +…Æ˙ I…i… V…®…… +x…÷{……i… C™…… ΩË˛ ? ∫…®…Z……<B*  

 What is reserve deposit ratio ? Explain.  2 

18.  x…¥…‰∂… M…÷h…EÚ EÚ“ |… GÚ™…… EÚ…‰ ∫…ΔI…‰{… ®…Â ∫…®…Z……<B* 

 Explain briefly the process of investment multiplier. 2 
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J…hb˜ – ∫… 
Section – C 

19. {… Æ˙¥…i…‘ +x…÷{……i…  x…™…®… EÚ“ ¥™……J™…… EÚ“ V…B* 

 Explain the law of variable proportions. 4 

20. ∫……Æ˙h…“ ®…Â n˘“ M…<« =i{……n˘x… <EÚ…<™……Â B¥…Δ E÷Ú±… {… Æ˙¥…i…‘ ±……M…i… E‰Ú +…v……Æ˙ {…Æ˙ +±{…EÚ…±…“x… 
+…Ë∫…i… ±……M…i… B¥…Δ +±{…EÚ…±…“x… ∫…“®……xi… ±……M…i… EÚ“ M…h…x…… EÚ“ V…B : 

 x…M…«i…  

(<EÚ…<™……ƒ) 

E÷Ú±… {… Æ˙¥…i…‘ ±……M…i… 

(Ø˚0) 

+±{…EÚ…±…“x… +…Ë∫…i…  

±……M…i… (Ø˚0) 

+±{…EÚ…±…“x… ∫…“®……xi… 
±……M…i… (Ø˚0) 

1 30 ....... ....... 

2 40 ....... ....... 

3 48 ....... ....... 

4 52 ....... ....... 

 Calculate short run average cost and short run marginal cost on the 
basis of units of output and total variable cost in the given table : 

Output 
( units) 

Total variable cost 
( Rs.) 

Short run  
Average cost 

(Rs.) 

Short run 
Marginal cost 

(Rs.) 

1 30 ....... ....... 

2 40 ....... ....... 

3 48 ....... ....... 

4 52 ....... ....... 

   8  ×  = 4 

21. {…⁄Ãi… ¥…GÚ C™…… ΩË˛ ? BEÚ °Ú®…« E‰Ú {…⁄Ãi… ¥…GÚ EÚ…‰  x…v……« Æ˙i… EÚÆ˙x…‰ ¥……±…‰ EÚ…‰<« i…“x… i…i¥… ∫…÷Z……<B* 

 What is supply curve ? Suggest any three elements which determine 
supply curve of a firm. 3 + 1 

22. BEÚ… v…EÚ…Æ˙ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* BEÚ… v…EÚ…Æ˙“ EÚ“ EÚ…‰<« i…“x… ∂…i…Á ∫…®…Z……<B* 

 Define monopoly. Describe any three conditions of a monopolist. 1 + 3 
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23.  x…®x……Δ EÚi… ∫…®…ΔEÚ…Â EÚ“ ∫…Ω˛…™…i…… ∫…‰ Æ˙…π]≈ı“™… +…™… EÚ“ M…h…x…… EÚ“ V…B : 

 (i) §……V……Æ˙ EÚ“®…i… {…Æ˙ ∫…EÚ±… Æ˙…π]≈ı“™… =i{……n˘ 1000 EÚÆ˙…‰c˜ Ø˚0 

 (ii) ®…⁄±™… ø…∫… 200 EÚÆ˙…‰c˜ Ø˚0 

 (iii) +|…i™…I… EÚÆ˙ 150 EÚÆ˙…‰c˜ Ø˚0 

 (iv) +x…÷n˘…x… 250 EÚÆ˙…‰c˜ Ø˚0  

 Calculate national income with the help of following data : 

 (i) Gross National Product at market price Rs. 1000 crore 

 (ii) Depreciation Rs.   200 crore 

 (iii) Indirect Taxes Rs.   150 crore 

 (iv) Subsidy Rs.   250 crore   

   4 

24. E‰Úxp˘“™… §…ÈEÚ EÚ…‰ ¥™……¥…∫…… ™…EÚ §…ÈEÚ…Â EÚ… +Δ i…®… @Òh…n˘…i…… C™……Â ®……x…… V……i…… ΩĘ̈ ? EÚ…Æ˙h… ∫{…π]ı 

EÚ“ V…B* 

 Why is central bank treated as lender of last resort for commercial 
banks ? Clarify with reason. 4 

25. {…ËÆ˙…®…‰ ]≈ıEÚ  ∂…}]ı ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you understand by parametric shift ?  4  

26. {…⁄ƒV…“M…i… |……Œ{i…™……Â ∫…‰ C™…… + ¶…|……™… ΩË˛ ? {…⁄ƒV…“M…i… |……Œ{i…™……Â EÚ“  EÚxΩ˛” n˘…‰ ®…n˘…Â EÚ… =±±…‰J… 

EÚ“ V…B* 

 What are meant by capital receipts ? Mention any two items of capital 
receipts. 1 + 3 

27. +n˘…™…M…“ ∫…Δi…÷±…x… B¥…Δ ¥™……{……Æ˙ ∫…Δi…÷±…x… E‰Ú +xi…Æ˙ EÚ…‰ ∫{…π]ı EÚ“ V…B* 

 Clarify the difference between balance of payments and balance of 
trade.   2 + 2  
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J…hb˜ – n˘ 

Section – D 

28. ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ… C™…… + ¶…|……™… ΩË˛ ? ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ“  EÚxΩ˛” S……Æ˙ ∏…‰ h…™……Â 

EÚ…‰ ∫…®…Z……<B* 

+l…¥…… 

 ®……ƒM… EÚ“ EÚ“®…i… ±……‰S… EÚ“ V™…… ®…i…“™…  ¥… v… EÚ…‰ ∫… S…j… ∫…®…Z……<B* 

 What is meant by price elasticity of demand ? Explain any four 

categories of price elasticity of demand. 2 + 4  

OR 

 Explain the geometric method of price elasticity of demand with 

diagram. 6 

29. +±{…EÚ…±…“x… +…Ë∫…i… ±……M…i… B¥…Δ n˘“P…«EÚ…±…“x… +…Ë∫…i… ±……M…i… EÚ“ ∫… S…j… ¥™……J™…… EÚ“ V…B* 

+l…¥…… 

 +±{…EÚ…±…“x… ∫…“®……xi… ±……M…i… B¥…Δ n˘“P…«EÚ…±…“x… ∫…“®……xi… ±……M…i… EÚ“ ∫… S…j… ¥™……J™…… EÚ“ V…B* 

 Explain short run average cost and long run average cost with 
diagram. 2 + 2 + 2 

OR 
 Explain short run marginal cost and long run marginal cost with 

diagram. 2 + 2 + 2 

30. ""∫…EÚ±… P…Æ‰˙±…⁄ =i{……n˘ ®…Â |…i™…‰EÚ ¥…fi r˘ EÚ±™……h… EÚ… ∫…⁄S…EÚ x…Ω˛” Ω˛…‰i…“ ΩË*˛'' EÚl…x… EÚ…‰ EÚ…‰<« i…“x… 

i…EÚ…Á E‰Ú +…v……Æ˙ {…Æ˙ ∫{…π]ı EÚ“ V…B* 

+l…¥…… 

  x…®x… +¥…v……Æ˙h……+…Â EÚ…‰ ∫{…π]ı EÚ“ V…B : 

(i) ={…¶……‰M… ¥…∫i…÷Bƒ B¥…Δ {…⁄ƒV…“M…i… ¥…∫i…÷Bƒ 

(ii) ®…v™…¥…i…‘ ¥…∫i…÷Bƒ B¥…Δ +Δ i…®… ¥…∫i…÷Bƒ 

(iii) ∫…EÚ±…  x…¥…‰∂… B¥…Δ  x…¥…±…  x…¥…‰∂…* 
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 "Every increase in gross domestic product is not the indicator of 

welfare." Clarify the statement on the basis of any three arguments. 

   2 + 2 + 2  

OR 

 Distinguish between the following concepts :   

(i) Consumer goods and capital goods 

(ii) Intermediate goods and final goods 

(iii) Gross investment and net investment. 2 + 2 + 2 

   
 


